
PRETERITO INDEFINIDO (PRETERIT) 

 

Conjugación verbos regulares 

 

 

10 verbos con raíz irregular 

 

*Nowadays the verb haber is just conjugated in third person (singular and plural) because is used for 

situation or objects, Ex: there was an accident (hubo un accidente) 

It can’t be used for people, Ex: I was in an accident (yo estuve en un accidente)  

is incorrect to say (Yo hube en un accidente) 

 

 

 

 

 



Verbos ir y ser 

 

Verbs ir and ser have exactly the same conjugation in past, It depends on the context 


